2021—2022 FEEF—RREHFZREN
TERBFRESEELR
ERN ii#%ﬂ: zkj(%ﬂ:/ﬂx: 12 Ij\ﬁ! ﬁlj\%ﬁ 3 ﬁ! :/H\: 36 ﬁ

1 2 3 4 5 6 7 8 9 10 11

12

o A A B D D C B D B B

=\ EE#: ABH6NE, SNEAG, 245
13, —12 14, 15°C 15, & 15
16, < > 17. 10 18, 7 9

=. BREB: AKX 6 /FE, L6045
19. &M 64, EF24

MIEEE MNEBEE MEEE
20. KA 8 o, B 14, BH1L, WRAN2S

15 0 2 3.8
L L e | ee | ® Y VI
3 2 1 0 1 3 4

BB AR/N: -1.5<—-<0<2<338 54 3.8>2>0> —->-15

21 AN 12 4 CREBEA (HE 77 ik 9 B R (61 8 7 %)

(1 ¢8)+ (15~ (+9) ~( -12) ; (2) 16+(-25) +14- (-40) ;
fid: =8+ (-15) +(-9)+12 fifg: =16+ (=25) +14+40
=8+12+[ (=15)+(-9) ] =16+14+40+ (-25)
=20+ (-24) =30+40+ (-25)
=—4 =70+ (-25)

=45




(3) 5.27+(-6)— (2. 27) +1. 73 (4) 23 =225 = (-12)+2; —0.2

fi: =5.27+ (—6) +2.27+1.73 iR = 2% + <—2§> +1§ +2§ + <_§ )
=5. 27+1. T3+ (-6) +2.27 =25 + () +[ (=29 +25 [+13
=7+ (-6) +2.27 :2+1§
_ _Ab
=1+2. 27 =32
=3.27

22. CAR/NEH Sy 10 40

fit: B, 15

T X 82 X T 24y
SAAB T (CIP ) i 24y

T X 72 X B 247
=392 (CIP ) i 24y

2 EWEAR AR 448 mem® L 392 T em® e, 29

23. ANEH Iy 12 4y
fift: AR, 15
(1 KA lal=5 |bl=7 |c|=4
FIBL a=£5 b=7 =4 e, 3%
(2) AN a<0 , b{EE AL
FTBL a==5  b=T e, 3%
# a=5,b=7, c=4 M| atbtc==5+T+4=6 ... 34

#r a=-5, b=T, c==4 M| atb+c=—b+T+ (=4) =2 e

25 FFTiR: atb+ce=6 B{-2
24. AR 12 4y
. MU, 15
(1) +13>4H10>45>—4>—5>—8>—15 o 14
30H13=43 (4F) 14

30+ (-15) =15 (43D e 14>

e B, RS, 2l 43 28R 15 B

(2) B0XT7+4[ (45) + (4) + (+13) + (-15) + (-5) + (+10) + (-8) ] i, 39

=210+ (-4>

2206 (3 ) 39
B (45) + (-4) + (#13) + (-15) + (-5) + (+10) + (-8) =-4 (J}) oo 3%

BOXT+ (4) Z206 (JF) e

e MEIZF PR T 206 73 EH RSN

(3) 0.3X206=61.8 (1) e 274}

e AMRANE 3L T 61,8 T,



